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log AL luminance difference -
97 threchold L g=630cd/nt
X oy

A 0,34 0,40 a5 g p-A3-fit

4 Y 045 047 pogsa

0,15 0,19

0,58 0,32

0,44

average

UE010-1IN_1

log AL luminance difference -

threshold L g=630cdt

2T X Y

A 034 040 arg g P-A3-fit

4 Y 045 047 gy ogs A

015 0,19 ,yerage

0,58 0,32

0,25

log AL luminance difference 0
95 threshold Lg=630cd/n?

X y

A 034 040 arg g P-A3-fit
4 Y 045 047 ypogsy .

0,15 0,19 average
0,58 0,32
0,44

é x=logL

log AL luminance difference -
threshold L g=630cdinf
Xy

A 0,34 0,40 15 & p-A3-it

1Y 045 047 pg2esB

0,15 0,19

average
0,58 0,32

UE010-7N_1
UE010-7N

TUB-test chart UEO1, threshold daaramopolos (88)
tp=26s, 4 observers, average, P-A3—fit, 630&d/m

log AL luminance difference -
S L g=630cd/n?
X .y

A 034 040 yarg g P-A3-fit

4 Y 045 0,47 pgopg A

0,15 0,19

0,58 0,32

0,25 0,44

average

log AL luminance difference -
25 T L g=630cdint
X oy

A 034 040 yarg g P-A3-fit

$ Y 045 047 ap26s A

015 0,19 ,yerage

0,58 0,32

0,25 0,44

log AL Itlrjlrrrggﬁglge difference Lg:630Cd,ng
Xy

A 034 040 yata & P-A3-fit

4 Y 045 047 ppogsy

0,15 0,19 average

0,58 0,32

0,25 0,44

log AL Ittrj]rrrggﬁglge difference ngeaocd,ng
Xy

A 034 040 a5 & P-A3-it

4 Y 045 047 Apogsp

0,15 0,19

0,58 0,32

0,25 0,44

average

UE010-8N_1

Y

log AL luminance difference -
S L g=630cd/n
X oy

A 034 040 yarg g P-A3-fit

4 Y 045 047 gy ogsR

0,15 0,19

0,58 0,32

0,25 0,44

average

log AL luminance difference -
S L g=630cdint
X oy

A 034 040 yarg g P-A3-fit

1Y 045 047 ap26s G

015 0,19 ,yerage

0,58 0,32

0,25 0,44

log AL luminance difference | _
threshold Lg=630cd/n?
x oy

A 034 040 515 g p-A3-fit

4 Y 045 047 ApogsaB
RN R

0,58 0,32 2
0,44 el

PEVRS A

log AL luminance difference -
threshold L g=630cdinf
Xy
A 034 040 15 & P-A3-it

L Y 045 047 ApogsaG
0,15 0,19 average

0,58 0,32
0,25 0,44 o

23

log AL luminance difference
threshold
Xy
A 034 040 a5 g p-A3-fit
4 Y 045 047 apopsR
0,15 0,19
0,58 0,32
0,25 0,44

average

[0)
log AL luminance difference | _
threshold Lg=630cd/n?
X oy
A 034 040 ya15 g p-A3-fit

4 Y 045 047 Apoesay
0,15 0,19 average

0,58 0,32
0,25 0,44

log AL luminance difference | _
threshold Lg=630cd/n?
Xy

A 034 040 g1, g p-A3-fit

4 Y 045 047 Ap2es AR
0,15 0,19 average

0,58 0,32 R
0,25 0,44 ks

log AL Itﬁ?ggr?&?je difference ngesocd/n?
X oy
A 034 040 a5 g p-A3-fit
4 Y 045 047 ypossay
0,15 0,19
0,58 0,32
0,25 0,44

average
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log AL luminance difference -
97 threchold L g=63cd/nf
X oy

A 034 040 yarg g P-A3-fit

4 Y 045 047 pogsa

0,15 0,19

0,58 0,32

0,25 0,44

average

UEO010-1N_2

log AL luminance difference -

threshold L g=63cdin?

21 X Y

A 0,34 0,40 15 & p-A3-it

4 Y 045 047 gy 65 A

0’15 0,19 average

0,58 0,32

0,25

log AL '{ﬁ?é'gﬁ&%e difference ngescd/n?
Xy

A 034 040 yara g P-A3-fit

4 Y 045 047 g ogsy

0,15 0,19 average

0,58 0,32

0,25

log AL luminance difference -
threshold L g=63cdin?
Xy

A 0,34 0,40 15 & p-A3-it

1Y 045 047 pg2esB

0,15 0,19

average
0,58 0,32

UE010-7N

TUB-test chart UEO1, threshold daaramopolos (88)
tp=26s, 4 observers, average, P-A3—fit, 63&l/m

log AL luminance difference -
S L g=63cdinf
X .y

A 034 040 yarg g P-A3-fit

4 Y 045 0,47 pgopg A

0,15 0,19

0,58 0,32

0,25 0,44

average

log AL luminance difference -
25 T L g=63cdin?
X oy

A 034 040 yarg g P-A3-fit

4 Y 045 047 Apogs A

0,15 0,19

0,58 0,32

0,25 0,44

average

log AL Itlrjlrrrggﬁglge difference Lg:63cd/m7-
Xy

A 034 040 yata & P-A3-fit

4 Y 045 047 ppogsy

0,15 0,19

0,58 0,32

0,25 0,44

average

log AL Ittrj]rrrggﬁglge difference ngeacd/m’—
Xy

A 034 040 a5 & P-A3-it

4 Y 045 047 Apogsp

0,15 0,19

0,58 0,32

0,25 0,44

average

UE010-8N_2

Y

log AL luminance difference -
S L g=63cdinf
X oy

A 034 040 yarg g P-A3-fit

4 Y 045 047 gy ogsR

0,15 0,19

0,58 0,32

0,25 0,44

average

log AL luminance difference -
S L g=63cdin?
X oy

A 034 040 yarg g P-A3-fit

1Y 045 047 ap26s G

015 0,19 ,yerage

0,58 0,32

0,25 0,44

log AL luminance difference -
threshold L g=63cdin?
Xy

A 034 040 15 & pP-A3-it

4 Y 045 047 ApogsaB
RN R

0,58 0,32
0,25 0,44

log AL luminance difference |, _
threshold Lg=63cd/n?
x oy

A 034 0,40 atn g P-A3-fit

L Y 045 047 ApogsaG
0,15 0,19 average

0,58 0,32
0,25 0,44

UEO11-7N_2

input: w/rgb/cmyk —> rghy
output: transfer togb

log AL luminance difference
threshold
Xy
A 034 040 a5 g p-A3-fit
4 Y 045 047 apopsR
0,15 0,19
0,58 0,32
0,25 0,44

average

0
log AL luminance difference | _
threshold Lg=63cd/nf
Xy
A 034 040 ya15 g p-A3-fit

4 Y 045 047 Apoesay
0,15 0,19 average

0,58 0,32
0,25 0,44

log AL luminance difference | __
threshold Lg=63cd/n?
x oy

A 034 040 g1, g p-A3-fit

4 Y 045 047 Ap2es AR
0,15 0,19 average

0,58 0,32
0,25

log AL luminance difference | _
threshold Lg=63cd/n?
x oy

A 0,34 040 a5 g p-A3-fit

4 Y 045 047 ypogsay
0,15 0,19 average

0,58 0,32
0,25 0,44
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log AL luminance difference -
97 threchold L g=6.3cdin?
X oy

A 0,34 0,40 a5 g p-A3-fit

4 Y 045 047 pogsa

0,15 0,19

0,58 0,32

0,44

average

UEO010-1N_3

log AL luminance difference | _

threshold Lg=6,3cd/n?

2+ Xy

A 034 040 a5 g p-A3-fit

1 ¥ 045 047 By oes A

RaalCel average

058 0,32

025

log AL {%@gﬁgﬁe difference nge,acd/n?
Xy

A 034 040 yara g P-A3-fit

4 Y 045 047 g ogsy

0,15 0,19 average

0,58 0,32

log AL luminance difference | _
threshold Lg=6,3cd/n?
x oy

A 034 040 a5 g p-A3-fit

1 Y 045 047 506

015 0,19

average
0,58 0,32

UE010-7N_3
UE010-7N

TUB-test chart UEO1, threshold daaramopolos (88)
tp=26s, 4 observers, average, P-A3—fit, 6,3éd/m

log AL luminance difference -
S L g=6 3cdin?
X .y
A 034 040 yarg g P-A3-fit
| Y 045 0,47 poogs A
0,15 0,19
0,58 0,32
0,25 0,44

average

log AL luminance difference -
25 T L g=6 3cdint

X oy

A 034 040 yarg g P-A3-fit

L Y 045 0,47 ap 265 A
015 0,19 ,yerage
0,58 0,32
0,25 0,44

log AL Itlrjlrrrggﬁgltée difference nge,scd/n?
Xy
A 034 040 a5 & P-A3-it
| Y 045 0,47 Apogs Y
015 0,19 ,yerage
0,58 0,32
0,44

log AL Ittrj]rrrggﬁglge difference nge,scd/n?
Xy

A 034 040 gata & P-A3-fit

L Y 045 047 ap 2658
0,15 0,19
0,58 0,32
0,25 0,44

average

UEO010-8N_3

Y

log AL luminance difference -
S L g=6 3cdint
X oy
A 034 040 yarg g P-A3-fit
| Y 045 0,47 gy o6sR
0,15 0,19
0,58 0,32
0,25 0,44

average

log AL luminance difference -
S L g=6 3cdin?

X oy

A 034 040 yarg g P-A3-fit

L Y 045 047 pp 265 G
015 0,19 ,yerage
0,58 0,32
0,25 0,44

log AL luminance difference | _
threshold Lg=6.3cd/nf
x oy

A 034 0,40 5n g P-A3-fit

L Y 0,45 047 ApoesaB
RN R

0,58 0,32
0,44

log AL luminance difference | _

threshold Lg=6,3cd/nf
x oy

AR0:SIRO0A0 data & P-A3-fit

L Y 0,45 0,47 Ap2gsA,G
0,15 0,19 average

0,58 0,32
0,25 0,44

UEO11-7N_3

input: w/rgb/cmyk —> rghy
output: transfer togb

log AL luminance difference
threshold
Xy
A 034 040 a5 g p-A3-fit
4 Y 045 047 apopsR
0,15 0,19
0,58 0,32
0,25 0,44

average

-2 -1 0

log AL luminance difference | _

threshold Lg=6,3cd/n?
Xy

A 0,34 040 a5 g P-A3-fit

4 Y 045 047 Apoesay
0,15 0,19 average

0,58 0,32
0,25 0,44

log AL luminance difference n

threshold Lg=6,3cd/n?
Xy

AN0:SIR0.A0 data & P-A3-fit

4 Y 045 047 Ap2es AR
0,15 0,19 average

0,58 0,32
0,25 0,44

log AL luminance difference | _

threshold Lg=6,3cd/n?
X oy
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4 Y 045 047 ypogsay
0,15 0,19 average

0,58 0,32
0,25 0,44
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log L/AL luminance contrast -
sensitivity threshold L g=630cdinf

T data & P-A3-fit X y
KR 26s A A 0,34 0,40
Y 0,45 0,47

4 average

0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast -
sensitivity threshold L g=630cd?

1 data & P-A3-fit W
BM 26s A A 0,34 0,40

4 average Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é X=logL

log L/AL luminance contrast -
sensitivity threshold L g=630cd?

T data & P-A3-fit X y

KR 26s Y A 0,34 0,40
4 average Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast -
sensitivity threshold L g=630cd?

T data & P-A3-fit
PO 26s B
1 average

-3 -2 -1 [0)
UE010-7N_4
UE010-7N

TUB-test chart UEO1, threshold daaramopolos (88)
tp=26s, 4 observers, average, P-A3—fit, 630&d/m

log L/AL luminance contrast -
sensitivity threshold L g=630cdinf

1 data & P-A3-fit ,»? Tox oy
PO 26s A A 0,34 0,40

1 average Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast -
sensitivity threshold -g~630c¢/ rt

1 data & P-A3—fit Tox oy
AD 26s A A 0,34 0,40

1 average Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é X=logL

log L/AL luminance contrast -
sensitivity threshold -g~630c¢/ t

T data & P-A3-fit 2 X y

AD 26s Y A 0,34 0,40
1 average Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é X=logL

log L/AL luminance contrast -
sensitivity threshold -g~630cd/ t

T data & P-A3-fit
AD 26s B
1 average

UE010-8N_4

Y

log L/AL luminance contrast -
sensitivity threshold L g=630cdinf

T data & P-A3-fit X oy

BM 26s R A 0,34 0,40
1 average Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é X=logL

log L/AL luminance contrast -
sensitivity threshold -g~630cd/ rt

T data & P-A3-fit X oy

AD 265 G A 0,34 0,40
1 average Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é X=logL

log L/AL luminance contrast -
sensitivity threshold -g~630cd/ t

M

T data & P-A3~fit .77 Xy

AD 26s A,B 2 A 0,34 0,40
1 average Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é X=logL

log L/AL luminance contrast -
sensitivity threshold -g~630cd/ t

T data & P-A3-fit
AD 26s A,G
1 average

UEO11-7N_4

input: w/rgb/cmyk —> rghy
output: transfer togb

log L/AL luminance contrast | _
sensitivity threshold -g=630¢d

1 data & P-A3-fit X oy

AD 26s R A 0,34 0,40
1 average Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

6 . 2 x=logL

log L/AL luminance contrast | _
sensitivity threshold Lg=630cd/n?

1 data & P-A3-it =T ox oy

AD 26s AY A 0,34 0,40
1 average Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

2: X=logL

log L/AL luminance contrast , _
sensitivity threshold Lg=630cd/n?

1 datagP-A3-fit .7 Xy
AD 26s AR 3 A 0,34 0,40
41 average Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

2: X=logL

log L/AL luminance contrast | _
sensitivity threshold Lg=630cd/n?

T data & P-A3-fit
KR 26s AY
1 average
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log L/AL luminance contrast  _
sensitivity threshold L g=63cdin?

T data & P-A3-fit X oy

KR 265 A A 0,34 0,40
1 average Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

AN
)

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

T data & P-A3-fit X y

KR 26s Y A 0,34 0,40
4 average Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

T data & P-A3-fit
PO 26s B
1 average

UE010-7N_5
UE010-7N

TUB-test chart UEO1, threshold daaramopolos (88)
tp=26s, 4 observers, average, P-A3—fit, 63&l/m

log L/AL luminance contrast | _
sensitivity threshold L g=63cdin?

T data & P-A3-fit
PO 26s A
1 average

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

A’
T data & P-A3-fit

AD 26s A

1 average

log L/AL luminance contrast -
sensitivity threshold L g=63cdin

T data & P-A3-i X y
AD 26s Y A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

T data & P-A3-fit
AD 26s B
1 average

UEO010-8N_5

Y

log L/AL luminance contrast | __
sensitivity threshold L g=63cdin?

T data & P-A3-f*
BM 26s R
4 average

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

T data & P-A3-fit X oy

AD 265 G A 0,34 0,40
1 average Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast -
sensitivity threshold L g=63cdin

1 data & P-A3fit, v
AD 265 AB -:+"
4 average <

A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

T data & P-A3-fit "

AD 26s A,G
1 average

UEO11-7N_5

input: w/rgb/cmyk —> rghy
output: transfer togb

log L/AL luminance contrast
sensitivity threshold

T data & P-A3-f*
AD 26s R
1 average

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

Xy
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

2: x=logL

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

s
T data & P-A3-F" ¢ X y

AD 26s AP A 0,34 0,40

1 averagef((( Y 0,45 0,47

0,15 0,19

0,58 0,32

0,25 0,44

2: x=logL

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

T data & P-A3-fit
KR 26s AY
1 average
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log L/AL luminance contrast | _
sensitivity threshold L g=6,3cdin?

T data & P-A3- "« X y
KR 26s A A 0,34 0,40
+ average Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

(:) ] 2 x=logL

log L/AL luminance contrast , _
sensitivity threshold Lg=6,3cd/n?

T data & P-A3-*:
BM 26s A
4 average

log L/AL luminance contrast  _
sensitivity threshold Lg=6,3cd/n?

T data & P-A3-.« X y
KR 26s Y A 0,34 0,40
+ avers ,e Y 0,45 0,47
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